TBA Data

240 nm Data Fit 295 nm Data Fit
y = m4+(1/(1+(m0/m1)Am2))*(m... y = m4+(1/(1+(m0/m1)Am2))*(m...
Value Error Value Error
m1 1.7209e-5 2.1542e-6 m1 1.3259e-5 2.0073e-7
m2 1.1365 0.20904 m2 1.1922 0.024962
m3 -4.6472 0.25578 m3 8.781 0.078463
m4 5.3583 0.41191 m4 34.455 0.09345
Chisq 6.4847 NA Chisq 0.55772 NA
R 0.99229 NA R 0.9999 NA
y = m4+(1/(1+4(m0/m1)"m2))*(m...
Value Error
m1 9.5165e-6 3.3556e-6
m2 1.1995 0.47506
m3 -1.7197 0.5355
m4 -9.6393 0.43844
Chisq 19.694 NA .
R 0.96627 NA 270 nm Data Fit
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Supplemental Figure 1



